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��� �!�� " �
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�#�$�����% &� ���
��
' ��� ���# �(��)
' $�
*���+�(% �$
' + �
�� 
���
�% ����#+ �� �#�� ��
 t → 0 �� �(
�
�
�
� ��$����� "
����$ ���	$�,� �
�� 
��
��� �������
�� ��� �������� (
������������(� �-� (� ��� �����,� ����	������,�
��������% ��
���# ��� ���#����� ����.��$# ��� �����)
� $�
*���+�(�� �������� �

�
��,����� ����#����� /� �� �#�� ��
 t→ 0 �!�� 0����,���
' �
����$ ��� �
����,�
�
����
��� ���,���#�
 (���$
 ��� �������� (
������������(� ���� 1
(� ��)�/ �����
2 ������
(
 �	
��
�# �����# ��� ����	������,� �������� � �������
� ����#������
�� �#�� �(��)�,� $�
*���+�(� � �
����
(
 ���
����(� ��� ���,� ���
���$
 �����)
�
��
����

�� 
����������� ������ �� ����������� " �	���(� QT ≡ {(x, t) : 0 < x <
h, 0 < t < T} ���,���
�� ����	�����
 ��������

ut = a(t)ψ0(t)uxx + b(x, t)ψ1(t)ux + c(x, t)ψ2(t)u+ f(x, t), (x, t) ∈ QT , 3�4

�© ������� ��	 
���
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� �
�����
� $�
*���+�(�� a(t) > 0, t ∈ [0, T ], ����($���5 #����5

u(x, 0) = ϕ(x), x ∈ [0, h], 3-4

$��'��
�
 #�����


u(0, t) = µ1(t), u(h, t) = µ2(t), t ∈ [0, T ], 364

(� #����5 �
�
�
����
���

a(t)ψ0(t)ux(0, t) = µ3(t), t ∈ [0, T ]. 3!4

7#�
�� �����(
% &� ψi(t), i = 0, 2− ������ ����(���� ����(�5�� *#�$��/% ψi(0) =
0, i = 0, 2. 8�� ����.��$�� ������ 3�4 3!4 ���#��+�� ���# *#�$��' (a(t), u(x, t)) ∈
C[0, T ]× C2,1(QT )

⋂
C(QT ), ux(0, t) ∈ C(0, T ], a(t) > 0, t ∈ [0, T ].

���������� ���-./�00� 0�1�2������- 3�450��6 �78- ��� t → +0 2���1
t∫

0

dτ√
θ0(t) − θ0(τ)

����9: .- 0�37�0;�00-3��6 .� θ0(t) =

t∫
0

ψ0(σ)dσ.

������� �
�#��(�(
 ������
�� � (
��
���

������� ��������� �� ��������� <���93���-6 8- 2�7-09=�53� 9�-2�>
1) ϕ ∈ C1[0, h]; µi ∈ C1[0, T ], i = 1, 2; µ3, ψi ∈ C[0, T ], i = 0, 2; f ∈ C1,0(QT ); b, c ∈

C(QT ) �� 1�.-2-450�=�5 9�-29 ?�45.��� 2 -@4�3�� QT 1� 1��00-= x 1 �-7�10�7-�
α, 0 < α < 1, ��20-���0- 3�-3-20- t, t ∈ [0, T ];

2) f(0, t) − µ′
1(t) > 0, t ∈ [0, T ]; µ3(t) > 0, t ∈ (0, T ], �309: 37�0;�00� .-.��0�

A��0�B� lim
t→+0

µ3(t)√
ψ0(t)t

≡ M, ψi(t)− �-0-�-00- 1�-3��=;� C907B�D6ψi(t) > 0, t ∈

(0, T ], ψi(0) = 0, i = 0, 1, 2, lim
t→+0

t∫
0

ψ2
1(σ)σ
θ0(σ)

dσ = 0; lim
t→+0

t∫
0

dτ√
θ0(t) − θ0(τ)

= ∞;

3) ϕ(0) = µ1(0), ϕ(h) = µ2(0).
�-.� �-/0� 1�10�;��� ��7� ;�34- t0, 0 < t0 � T, �7� 2�10�;�:�53� 2���.


0��� .�0��� 1�.�;�6 8- �309: :.�0�E �-12F�1-7 (a(t), u(x, t)) 1�.�;� G H
GIH ��� x ∈
[0, h], t ∈ [0, t0]�

"�
�
�� (�$� ������
���� 9
�
� u0(x, t) ������
�� ����.���$ �������� (
������ 
������(�

ut = a(t)ψ0(t)uxx + f(x, t), (x, t) ∈ QT 3�4

� #�����
 3-4%364% �$
' ��+ �
,���

u0(x, t) =

h∫
0

G1(x, t, ξ, 0)ϕ(ξ)dξ +

t∫
0

G1ξ(x, t, 0, τ)a(τ)ψ0(τ)µ1(τ)dτ−

−
t∫

0

G1ξ(x, t, h, τ)a(τ)ψ0(τ)µ2(τ)dτ +

t∫
0

h∫
0

G1(x, t, ξ, τ)f(ξ, τ)dξdτ. 3:4
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9
�
� Gk(x, t, ξ, τ) ������
�� *#�$��/ ;���� �
�)�/ (� ��#,�/ $��'��
� ����� ���
�������� 3�4% �$� ��5(� �
,���

Gk(x, t, ξ, τ) =
1

2
√
π(θ(t) − θ(τ))

∞∑
n=−∞

(
exp

(
− (x− ξ + 2nh)2

4(θ(t) − θ(τ))

)
+

+ (−1)k exp

(
− (x+ ξ + 2nh)2

4(θ(t) − θ(τ))

))
, k = 1, 2, θ(t) =

t∫
0

a(τ)ψ0(τ)dτ. 3�4

8�
�#�$�5�
% &� *#�$��� a(t) ������% ������
 ������
��� v(x, t) ≡ ux(x, t), �����#
3�4 3!4 �����
�� 
$�����
�(��5 �
�(
��5 �������

u(x, t) = u0(x, t) +

t∫
0

h∫
0

G1(x, t, ξ, τ)(b(ξ, τ)ψ1(τ)v(ξ, τ) + c(ξ, τ)ψ2(τ)u(ξ, τ))dξdτ,

3<4

v(x, t) = v0(x, t) +

t∫
0

h∫
0

G1x(x, t, ξ, τ)(b(ξ, τ)ψ1(τ)v(ξ, τ) + c(ξ, τ)ψ2(τ)u(ξ, τ))dξdτ,

3�4

a(t) =
µ3(t)

ψ0(t)v(0, t)
, t ∈ [0, T ], 3�=4

�
 �
��� v0(x, t) �(�
�#+(��� � 3:4 �
*
�
���5������ (� ��(
,�#������ ���(
���


v0(x, t) =

h∫
0

G2(x, t, ξ, 0)ϕ′(ξ)dξ +

t∫
0

G2(x, t, 0, τ)(f(0, τ) − µ′
1(τ))dτ+

+

t∫
0

G2(x, t, h, τ)(µ′
2(τ) − f(h, τ))dτ +

t∫
0

h∫
0

G2(x, t, ξ, τ)fξ(ξ, τ)dξdτ. 3��4

�� 	�������� ��������� ���� ��!�� >��#����� ����.��$# 	#�
�� �����
(
 ��
������,�5 (
��
�
 ?�#�
�� ��� �
�#���# (��$# ���$�� �
�
�
����,� ��
��(���%
(��# �.��#+�� �������� ����$
 ����.��$�� �
�(
�
 3<4 3�=4�

@ ��
��
�# ��$�
�#�# ��% �� -��% �
��
��+

|u(x, t)| � U <∞ � QT . 3�-4

"���#(���(� ����,� �
,���# *#�$��/ v(x, t) �
��,�+ �������
��� ���
���$
 ��+/

*#�$��/ ��
 t → +0. @ 3��4% �� ������,�5 ������(�

h∫
0

G2(x, t, ξ, τ)dξ = 1, ��	
��
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�
�����$ ��� �	�
�
���(� �
�)�,� (� �
(�
�(�,� �����$��∣∣∣∣∣
h∫

0

G2(x, t, ξ, 0)ϕ′(ξ)dξ

∣∣∣∣∣ � C1,

∣∣∣∣∣
t∫

0

h∫
0

G2(x, t, ξ, τ)fξ(ξ, τ)dξdτ

∣∣∣∣∣ � C2. 3�64

"�����#5�
 ���
' �
,��� *#�$��/ ;���� � 3�4% ��� ���� ��)
� �����$�� �(�
��+��

t∫
0

G2(x, t, 0, τ)(f(0, τ) − µ′
1(τ))dτ � C3 + C4

t∫
0

dτ√
θ(t) − θ(τ)

,

∣∣∣∣∣
t∫

0

G2(x, t, h, τ)(µ′
2(τ) − f(h, τ))dτ

∣∣∣∣∣ � C5 + C6

t∫
0

dτ√
θ(t) − θ(τ)

. 3�!4

A��� ��(�(���� ��� v0(x, t) ��+��

|v0(x, t)| � C7 + C8

t∫
0

dτ√
θ(t) − θ(τ)

. 3��4

"�����
 ������
��� V (t) ≡ max
x∈[0,h]

|v(x, t)| (� �
$��
�(��#5�
 �����# ����$#

h∫
0

|G1x(x, t, ξ, τ)|dξ � C9√
θ(t) − θ(τ)

, � 39) �(�
��+��

V (t) � C10 + C11

t∫
0

dτ√
θ(t) − θ(τ)

+ C12

t∫
0

ψ1(τ)V (τ)dτ√
θ(t) − θ(τ)

+ C13

t∫
0

ψ2(τ)dτ√
θ(t) − θ(τ)

. 3�:4

@� ������,�5 ������
��

amin(t) = min
0�τ�t

a(τ), amax(t) = max
0�τ�t

a(τ) 3��4

� 3�:4 �(�
��+��

V (t) � C10 +
C11√
amin(t)

t∫
0

dτ√
θ0(t) − θ0(τ)

+
C12√
amin(t)

t∫
0

ψ1(τ)V (τ)dτ√
θ0(t) − θ0(τ)

+

+
C13√
amin(t)

t∫
0

ψ2(τ)dτ√
θ0(t) − θ0(τ)

. 3�<4

"�����#5�
 (
% &� ������$ ���	�
���(� V (t) �
 �
��
% ���

t∫
0

dτ√
θ0(t) − θ0(τ)

, (�

#���
 (
��
�
% ��	
�� �
�����$% &� ������$ ���	�
���(� (�
(��,� (� �
(�
�(� 
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,� �����$�� � 3�<4 �
�)�% ��� ��#,�,�� �(�
% *#�$��� v(x, t) �����
(� �
	
 �$

C14

t∫
0

dτ√
θ0(t) − θ0(τ)

��
 t→ +0.

"
����
�� ����$
 v(x, t) ��
��# (� ��
�# ��
 x = 0. "�����#5�
 #���
 (
��
�

(� 3�64% 3�!4% �(�
��+��

v(0, t) �
t∫

0

G2(0, t, 0, τ)(f(0, τ) − µ′
1(τ))dτ − C15 − C16

t∫
0

ψ1(τ)V (τ) + ψ2(τ)√
θ(t) − θ(τ)

dτ,

�	�

v(0, t) � 1√
π

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
dτ − C15 − C16

t∫
0

ψ1(τ)V (τ) + ψ2(τ)√
θ(t) − θ(τ)

dτ, 3��4

��$���$


t∫
0

G2(0, t, 0, τ)(f(0, τ) − µ′
1(τ))dτ =

1√
π

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
dτ +

2√
π

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
×

×
∞∑

n=1

exp

(
− n2h2√

θ(t) − θ(τ)

)
dτ � 1√

π

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
dτ.

�������#5�
 ���
���$# $����,� �����$� � 3��4 ��
 t → +0% ��	
�� �
�����$% &�
���	�
���(� ��#,�,� ��(
,���� �
�)�% ��� ���	�
���(� �
�)�,�% � �(�
% ���#5(� (�$�
����
��� t1, 0 < t1 � T, (� q, 0 < q < 1, &�

C16

t∫
0

ψ1(τ)V (τ) + ψ2(τ)√
θ(t) − θ(τ)

dτ + C15 � q√
π

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
dτ, t ∈ [0, t1].

A��� � 3��4 ��
��
��

v(0, t) � 1 − q√
π

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
dτ. 3-=4

8���(��
�� �(�
���# ����$# � �������� 3�=4

a(t) �
√
πµ3(t)

(1 − q)ψ0(t)

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
dτ

�	� a(t) �
√
πµ3(t)

√
amax(t)

(1 − q)ψ0(t)

t∫
0

f(0, τ) − µ′
1(τ)√

θ0(t) − θ0(τ)
dτ

.

3-�4
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"�
�
�� ���# *#�$��5

H(t) ≡
√
πµ3(t)

ψ0(t)

t∫
0

f(0, τ) − µ′
1(τ)√

θ0(t) − θ0(τ)
dτ

.

B#�$��� H(t) �
�
�
���� (� ����(�� �� ������$# 3=%C� � ��+ �$���
��# ����(�#
,���
�5 ��
 t→ +0

lim
t→+0

H(t) = lim
t→+0

√
πψ0(t∗)µ3(t)

ψ0(t)(f(0, t∗) − µ′
1(t∗))

t∫
0

dτ√
t− τ

=
√
πM

2(f(0, 0) − µ′
1(0))

, t∗ ∈ [0, T ].

8������#5�
 ����$# a(t) � �
$��
�(����� *#�$��/ H(t), � 3-�4 ��+��

a(t) � 1
1 − q

H(t)
√
amax(t) �	� amax(t) � 1

1 − q
Hmax(t)

√
amax(t),

�
 Hmax(t) = max
0�τ�t

H(τ). @����
 ��+��

a(t) � A1, t ∈ [0, t1], �
 A1 =
1

(1 − q)2
H2

max(T ). 3--4

����$� v(0, t) ��
��# 	#�
 (�$�5D

v(0, t) � C17 +
1√
π

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
dτ + C18

t∫
0

ψ1(τ)V (τ)√
θ(t) − θ(τ)

dτ + C19

t∫
0

ψ2(τ)dτ√
θ(t) − θ(τ)

.

"
$��
�(�+�� �5 �
������(� (� 3��4 ��� ����$
 *#�$��/ a(t) ��
�#

a(t) � µ3(t)
ψ0(t)

(
C17 +

1√
πamin(t)

t∫
0

f(0, τ) − µ′
1(τ)√

θ0(t) − θ0(τ)
dτ +

C18√
amin(t)

t∫
0

ψ1(τ)V (τ)√
θ0(t) − θ0(τ)

dτ+

+
C19√
amin(t)

t∫
0

ψ2(τ)dτ√
θ0(t) − θ0(τ)

)−1

.

8
�
(���
�� �5 �
������(� �� �
,���#

a(t) �
√
amin(t)

(
C17

√
amin(t)ψ0(t)
µ3(t)

+
ψ0(t)√
πµ3(t)

t∫
0

f(0, τ) − µ′
1(τ)√

θ0(t) − θ0(τ)
dτ+

+
C18ψ0(t)
µ3(t)

t∫
0

ψ1(τ)V (τ)√
θ0(t) − θ0(τ)

dτ +
C19ψ0(t)
µ3(t)

t∫
0

ψ2(τ)√
θ0(t) − θ0(τ)

dτ

)−1

.
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@ �����
��� *#�$��/ H(t) (� #��� (
��
�
 ��+��

a(t) �
√
amin(t)

(
C17

√
amin(t)ψ0(t)
µ3(t)

+
1

H(t)
+
C18ψ0(t)
µ3(t)

t∫
0

ψ1(τ)V (τ)√
θ0(t) − θ0(τ)

dτ+

+
C19ψ0(t)
µ3(t)

t∫
0

ψ2(τ)√
θ0(t) − θ0(τ)

dτ

)−1

�
√
amin(t)H(t)

(
C20

√
ψ0(t)
t

+ 1+

+ C21

√
ψ0(t)
t

t∫
0

ψ1(τ)V (τ)√
θ0(t) − θ0(τ)

dτ + C22

√
ψ0(t)
t

t∫
0

ψ2(τ)√
θ0(t) − θ0(τ)

dτ

)−1

. 3-64

@ �����
��� �
����,� �
����
��� �
��
��+% &� �����)
���

√
ψ0(t)
t

����#+ �� �#��

��
 t → +0. @ ���
���$
 *#�$��/ V (t) (� #��� (
��
�
 ��	
�� �
�����$% &� ���#+
(�$
 ����
��� t2, 0 < t2 � T, &� ��
 t ∈ [0, t2] �
$��#+(��� �
������(�

C20

√
ψ0(t)
t

+ C21

√
ψ0(t)
t

t∫
0

ψ1(τ)V (τ)√
θ0(t) − θ0(τ)

dτ + C22

√
ψ0(t)
t

t∫
0

ψ2(τ)√
θ0(t) − θ0(τ)

dτ � q.

A��� � �
������(� 3-64 �(�
��+��

a(t) �
√
amin(t)H(t)

1 + q
�	� amin(t) � H2

min(t)
(1 + q)2

, t ∈ [0, t2], 3-!4

�
 Hmin(t) = min
0�τ�t

H(τ). ��(�(���� ��+�� ��� a(t)

a(t) � A0, t ∈ [0, t2], �
 A0 =
1

(1 + q)2
H2

min(T ) > 0. 3-�4

8������
�� ����5��(
 3�<4% ����(����5�
 3-!4 # 3�<4

V (t) � C10 + C23

t∫
0

dτ√
θ0(t) − θ0(τ)

+ C24

t∫
0

ψ1(τ)V (τ)√
θ0(t) − θ0(τ)

dτ+

+ C25

t∫
0

ψ2(τ)dτ√
θ0(t) − θ0(τ)

. 3-:4

"�
�
�� ������
��� χ(t) ≡
( t∫

0

dτ√
θ0(t) − θ0(τ)

)−1

. "�����#5�
 ����(���� *#�$��/

θ0(t)
t

, ��+��

θ0(t) − θ0(τ) =
θ0(t)
t

(
t− θ0(τ)

θ0(t)
t

)
� θ0(t)

t
(t− τ).
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A��� � 3-:4 �(�
��+��

V (t) � C10 +
C23

χ(t)
+ C24

√
t

θ0(t)

t∫
0

ψ1(τ)V (τ)dτ√
t− τ

+ C25
ψ2(t)
χ(t)

. 3-�4

8�����
�� �	
��� ���(
�
 �
������(� �� χ(t) (� ��
�
�� ���# *#�$��5 W (t) ≡
V (t)χ(t)

W (t) � C26 + C24χ(t)

√
t

θ0(t)

t∫
0

ψ1(τ)W (τ)dτ
χ(τ)

√
t− τ

+ C25ψ2(t). 3-<4

8�
'�
�� t = σ, ������
�� �	
��� ���(
�
 �
������(� ��
1√
t− σ

� �����(
,�#+��

��� 0 �� t

t∫
0

W (σ)dσ√
t− σ

� 2C26

√
t+ C24

t∫
0

χ(σ)
√
σdσ√

θ0(σ)(t − σ)

σ∫
0

ψ1(τ)W (τ)dτ
χ(τ)

√
σ − τ

+ 2C25ψ2(t)
√
t.

8�����+�� ������$ ��(
,�#����� # �����' ���(
�� �
������(�% ����#���)
% &� *#�$ 

��� χ(t)

√
t

θ0(t)
E ������ (�

t∫
τ

dσ√
(t− σ)(σ − τ)

= π. 1�(
�
��

t∫
0

W (σ)dσ√
t− σ

� 2C26

√
t+ 2C25ψ2(t)

√
t+ C27

t∫
0

ψ1(τ)W (τ)
√
τ√

θ0(τ)
dτ. 3-�4

��$���$
 *#�$���
ψ1(t)
χ(t)

E ����(�5��% (� �
�
�
)
�� 3-<4 # �
,����

W (t) � C26 + C24

√
t

θ0(t)
ψ1(t)

t∫
0

W (τ)dτ√
t− τ

+ C25ψ2(t).

8���(��
�� � �5 �
������(� ����$# 3-�4 � ����� �
�
(���
�� �(�
��+��

W (t) � C28 + C29

√
t

θ0(t)
ψ1(t)

t∫
0

ψ1(τ)W (τ)
√
τ√

θ0(τ)
dτ.

� �
���$#% $��
 lim
t→+0

√
t

θ0(t)
ψ1(t) = 0, ������ �
������(� ����.��#+(��� �� ������,�5

�
�
 ;���#���� �:% �� �<<�% � �$ �������$% *#�$��� W (t) �	�
�
�� �
�$�5 $���(�� 
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(�5% �$� ���
�
(� ��� �
����
� ���
�� F
��' lim
t→+0

√
θ0(t)√
tψ1(t)

= 0. A���

√
θ0(t)√
tψ1(t)

W (t) � C28

√
θ0(t)√
tψ1(t)

+ C29

t∫
0

ψ1(τ)W (τ)
√
τ√

θ0(τ)
dτ. 36=4

8�����
�� ����# ���(
�# �
������(� 36=4 �
�
� L(t). �
*
�
���55�
% �(�
��+��

L′(t) − C29
ψ2

1(t)t
θ0(t)

L(t) � C28

( √
θ0(t)√
tψ1(t)

)′
.

������
�� �	
��� ���(
�
 �
������(� �� exp

(
−C29

t∫
0

ψ2
1(σ)σ
θ0(σ)

dσ

)
(� �����(
,�#+��

��� = �� t. �(�
��+��

L(t) � C28

√
θ0(t)√
tψ1(t)

+ C30

t∫
0

ψ1(τ)
√
τ√

θ0(τ)
exp

(
C29

t∫
τ

ψ2
1(σ)σ
θ0(σ)

)
dτ.

8���(����5�
 ��
����# ����$# � 36=4% ��
��#+��

W (t) � C28 + C31

√
tψ1(t)√
θ0(t)

t∫
0

√
τψ1(τ)√
θ0(τ)

exp

(
C29

t∫
τ

ψ2
1(σ)σ
θ0(σ)

)
dτ.

��(�(���� ��+��

V (t) � C32

χ(t)
, t ∈ [0, t2], �	� |v(x, t)| � C32

χ(t)
, (x, t) ∈ [0, h] × (0, t2], 36�4

�
 C32− $���(��(�% &� �
�����+(��� �
����
�
 ���
�
�
"�
�
�� ���# *#�$��5 ṽ(x, t) ≡ v(x, t)χ(t) � ������ �
�(
�# ������� 3<4% 3�4% 3�=4

# (�$�' *����D

u(x, t) = u0(x, t) +

t∫
0

h∫
0

G1(x, t, ξ, τ)(b(ξ, τ)ψ1(τ)
ṽ(ξ, τ)
χ(τ)

+ c(ξ, τ)ψ2(τ)u(ξ, τ))dξdτ,

36-4

ṽ(x, t) = v0(x, t)χ(t) + χ(t)

t∫
0

h∫
0

G1x(x, t, ξ, τ)(b(ξ, τ)ψ1(τ)
ṽ(ξ, τ)
χ(τ)

+

+ c(ξ, τ)ψ2(τ)u(ξ, τ))dξdτ, (x, t) ∈ Qt0 , 3664

a(t) =
µ3(t)χ(t)
ψ0(t)ṽ(0, t)

, t ∈ [0, t0], �
 t0 = min{t1, t2}. 36!4
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@��
)
�� �
�(
�# ������� 36-4 36!4 � ��
��(����' *����

ω = Pω,

�
 ω = (u, ṽ, a), P = (P1, P2, P3), ��
��(��
 P1, P2, P3 �
�����5(��� ����
�
 ��� 
(
���
 ������� 36-4 36!4� "
����
�� ����
�# N = {(u, ṽ, a) ∈ C(Qt0) × C(Qt0) ×
C[0, t0] : |u(x, t)| � U, |ṽ(x, t)| � C32, A0 � a(t) � A1}. @,���� � �(�
���
�
 ����$��

3�-4% 36�4% 3--4% 3-�4 ��
��(�� P �
�
���
(� ����
�# N � �
	
� 8�$��
��% &� ��
�� 
(�� P ���$�� �
�
�
���
' �� N . @,���� � (
��
��5 0��
�� 0�$��� (�
	� �.��#��(
%
&� ��� ��������,� ε > 0 ���#+ (�$
 δ > 0, &�

|Pi(x2, t2) − Pi(x1, t1)| < ε, i = 1, 2, |P3(t2) − P3(t1)| < ε, ∀ (u, ṽ, a) ∈ N ,

�$&� |t2 − t1| < δ, |x2 − x1| < δ, �
 (x1, t1), (x2, t2) ∈ Qt0 . ���
�
��� $����$(���(�
��$��
�� �� ��
$���� ����,� � �����$��% &� ����
(� �� ��(
,������,� ��
��(��� P

K =

∣∣∣∣∣χ(t2)

t2∫
0

(f(0, τ) − µ′
1(τ))G2(0, t2, 0, τ)dτ − χ(t1)

t1∫
0

(f(0, τ) − µ′
1(τ))G2(0, t1, 0, τ)dτ

∣∣∣∣∣.
8�
�#�(
��% &� ti, i = 1, 2  ���
(� ���� ����
���� G��,���
�� ��(
,���

K̂ ≡ χ(t)

t∫
0

(f(0, τ) − µ′
1(τ))G2(0, t, 0, τ)dτ =

χ(t)√
π

( t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)
dτ+

+ 2

t∫
0

f(0, τ) − µ′
1(τ)√

θ(t) − θ(τ)

∞∑
n=1

exp

(
− n2h2

θ(t) − θ(τ)

)
dτ

)
≡ K̂1 + K̂2.

"
$��
�(��)
 ��
����� ����$
 ��� *#�$��/ a(t), ��� ��#,�,� �����$� ��+��

K̂2 � 2χ(t)√
πamin(t)

max
t∈[0,T ]

(f(0, t) − µ′
1(t))

t∫
0

1√
θ0(t) − θ0(τ)

×

×
∞∑

n=1

exp

(
− n2h2

amax(t)(θ0(t) − θ0(τ))

)
dτ.

"�����#5�
 �	�
�
���(� �����(
,������,� �
���#% � (�$�� ����#����� �� �#��
*#�$��/ χ(t) ��
 t → +0 ��	
�� �
�����$% &� K̂2 ����#+ �� �#�� ��
 t → +0�
@��'�
�� ,���
�5 �
�)�,� �����$�% �
$��
�(��)
 (
��
�# ��� �
�
��+

lim
t→+0

K̂1 = lim
t→+0

f(0, t̃) − µ′
1(t̃)√

πa(t̃)
χ(t)

t∫
0

dτ√
θ0(t) − θ0(τ)

=
f(0, 0) − µ′

1(0)√
πa(0)

.
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8�����
�� lim
t→+0

K̂1 = κ0. A��� ��� �
���# K �(�
��+��

K �
∣∣∣∣∣χ(t2)

t2∫
0

(f(0, τ) − µ′
1(τ))G2(0, t2, 0, τ)dτ − κ0

∣∣∣∣∣+
+

∣∣∣∣∣χ(t1)

t1∫
0

(f(0, τ) − µ′
1(τ))G2(0, t1, 0, τ)dτ − κ0

∣∣∣∣∣.
1���� ������
(
 (�$
 ����
��� t∗, $��
 0 < ti < t∗, i = 1, 2, 	#�#(� �
$��#��(
��
�
������(�D ∣∣∣∣∣χ(ti)

ti∫
0

(f(0, τ) − µ′
1(τ))G2(0, ti, 0, τ)dτ − κ0

∣∣∣∣∣ < ε

2
.

�(�
% K < ε, $��
 0 < ti < t∗, i = 1, 2. "
����$ ti > t∗, i = 1, 2 (� �������
��� ��)
�
��(
,�����
� ��
��(����% &� �����(� � P1, P2, P3, �������(� �����,���� �� �
���$#
�
����,� �
����
��� ��� �������� (
������������(� [�]� �(��% ��
��(�� P ���$��
�
�
�
���
' �� N .

����
 (
��
�
 ?�#�
�� �
$��#5(���� G���.���$ ������ 3�4 !4 ���#+ (� ������+
�
�	�����5 ,���$��(5�

"� 	�������� �������� ���� ��!�� "�
�
�� ������
��� a(t) ≡ a1(t) − a2(t),
u(x, t) ≡ u1(x, t)− u2(x, t), v(x, t) ≡ v1(x, t)− v2(x, t), �
 (ai(t), ui(x, t), vi(x, t)), i = 1, 2
 ����� ����.��$
 �
�(
�
 3<4  3�=4� �(�
��+�� (�$# �
�(
�#D

u(x, t) = u0(x, t) +

t∫
0

h∫
0

G1
1(x, t, ξ, τ)(b(ξ, τ)ψ1(τ)v(ξ, τ) + c(ξ, τ)ψ2(τ)u(ξ, τ))dξdτ+

+

t∫
0

h∫
0

(G1
1(x, t, ξ, τ) −G2

1(x, t, ξ, τ))(b(ξ, τ)ψ1(τ)v2(ξ, τ) + c(ξ, τ)ψ2(τ)u2(ξ, τ))dξdτ,

36�4

(x, t) ∈ QT ,

v(x, t) = v0(x, t) +

t∫
0

h∫
0

G1
1x(x, t, ξ, τ)(b(ξ, τ)ψ1(τ)v(ξ, τ) + c(ξ, τ)ψ2(τ)u(ξ, τ))dξdτ+

+

t∫
0

h∫
0

(G1
1x(x, t, ξ, τ) −G2

1x(x, t, ξ, τ))(b(ξ, τ)ψ1(τ)v2(ξ, τ) + c(ξ, τ)ψ2(τ)u2(ξ, τ))dξdτ,

36:4

(x, t) ∈ QT ,

a(t) = −a1(t)a2(t)
v(0, t)ψ0(t)

µ3(t)
, t ∈ [0, T ], 36�4
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�
 u0(x, t) = u01(x, t) − u02(x, t), v0(x, t) = v01(x, t) − v02(x, t), Gi
1(x, t, ξ, τ) E *#�$��/

;���� �
�)�/ $��'���/ ������ ��� ������� ut = ai(t)ψ0(t)uxx, i = 1, 2. ���
�
���
+�
���(� 	#�
�� ������
(
% ����55�
 � �������� 36�4 �
��� v(0, t)� 8�����
��

ãmax(t) ≡ max
0�τ�t

|a1(τ) − a2(τ)|.

@ *���#�
 3��4 ������
�� v0(x, t)

v0(x, t) =

h∫
0

(G1
2(x, t, ξ, 0) −G2

2(x, t, ξ, 0))ϕ′(ξ)dξ +

t∫
0

(G1
2(x, t, 0, τ) −G2

2(x, t, 0, τ))×

× (f(0, τ) − µ′
1(τ))dτ +

t∫
0

(G1
2(x, t, h, τ) −G2

2(x, t, h, τ))(µ
′
2(τ) − f(h, τ))dτ+

+

t∫
0

h∫
0

(G1
2(x, t, ξ, τ) −G2

2(x, t, ξ, τ))fξ(ξ, τ)dξdτ.

����
�� �
���
% &� �����(� �� v0(x, t). ��� �
�)�,� (� �
(�
�(�,� �����$�� ��� 
�
���� (�$� ����$
D

R1 ≡
h∫

0

|(G1
2(x, t, ξ, 0) −G2

2(x, t, ξ, 0))ϕ′(ξ)|dξ � C33ãmax(t),

R4 ≡
t∫

0

h∫
0

|(G1
2(x, t, ξ, τ) −G2

2(x, t, ξ, τ))fξ(ξ, τ)|dξdτ � C34tãmax(t). 36<4

��� ����$
 ��#,�,� ��(
,����% �$
' ����
(� �� v0% �
���
�� � ���# ������$% &�
���������+ n = 0

R2 ≡
t∫

0

∣∣∣∣∣ f(0, τ) − µ′
1(τ)√

π(θ1(t) − θ1(τ))

∞∑
n=−∞

exp

(
− (x+ 2nh)2

4(θ1(t) − θ1(τ))

)
− f(0, τ) − µ′

1(τ)√
π(θ2(t) − θ2(τ))

×

×
∞∑

n=−∞
exp

(
− (x+ 2nh)2

4(θ2(t) − θ2(τ))

)∣∣∣∣∣dτ � C35

( t∫
0

exp

(
− x2

4(θ1(t) − θ1(τ))

)
×

×
∣∣∣∣∣ 1√

θ1(t) − θ1(τ)
− 1√

θ2(t) − θ2(τ)

∣∣∣∣∣dτ +

t∫
0

1√
θ2(t) − θ2(τ)

∣∣∣∣∣exp

(
− x2

4(θ1(t) − θ1(τ))

)
−

− exp

(
− x2

4(θ2(t) − θ2(τ))

)∣∣∣∣∣dτ +

t∫
0

∣∣∣∣∣ 1√
θ1(t) − θ1(τ)

∞∑
n=−∞

n �=0

exp

(
− (x + 2nh)2

4(θ1(t) − θ1(τ))

)
−
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− 1√
θ2(t) − θ2(τ)

∞∑
n=−∞

n �=0

exp

(
− (x+ 2nh)2

4(θ2(t) − θ2(τ))

)∣∣∣∣∣dτ
)

= C35

3∑
i=1

R2i.

"
��� R23 ����
�� (�$D

R23 =

t∫
0

∣∣∣∣∣
θ1(t)−θ1(τ)∫

θ2(t)−θ2(τ)

∂

∂z

(
1√
z

∞∑
n=−∞

n �=0

exp

(
− (x+ 2nh)2

4z

))
dz

∣∣∣∣∣dτ � C36

t∫
0

|θ1(t) − θ1(τ)−

− θ2(t) + θ2(τ)|dτ � C36

t∫
0

dτ

t∫
τ

|a1(σ) − a2(σ)|ψ0(σ)dσ � C36ãmax(t)

t∫
0

dτ

t∫
τ

ψ0(σ)dσ.

H�	 ����
(
 R22, �
$��
�(�+�� 3254 � �
������(� |ex − ey| � |x− y|max{ex, ey}

R22 � x2

4

t∫
0

1√
θ2(t) − θ2(τ)

∣∣∣∣∣ 1
θ1(t) − θ1(τ)

− 1
θ2(t) − θ2(τ)

∣∣∣∣∣ exp

(
− x2

C37(θ0(t) − θ0(τ))

)
dτ =

=
x2

4

t∫
0

|θ2(t) − θ2(τ) − θ1(t) + θ1(τ)|
(θ2(t) − θ2(τ))3/2(θ1(t) − θ1(τ))

exp

(
− x2

C37(θ0(t) − θ0(τ))

)
dτ.

"�����#5�
 ���
�
��� ����$
% ��+��

|θ2(t) − θ2(τ) − θ1(t) + θ1(τ)| �
t∫

τ

|a1(σ) − a2(σ)|ψ0(σ)dσ � ãmax(t)(θ0(t) − θ0(τ)),

θi(t) − θi(τ) � amin(t)

t∫
τ

ψ0(σ)dσ � H2
min(t)

(1 + q)2

t∫
τ

ψ0(σ)dσ =
H2

min(t)
(1 + q)2

(θ0(t) − θ0(τ)).

36�4

I$��
�(�+���� ������5 �
������(5 xpe−qx2 � Cp,q, x � 0, p � 0, q > 0 (� 3394 ���
������)�/ ����$
 R22

R22 � C38ãmax(t)

t∫
0

dτ√
θ0(t) − θ0(τ)

=
C38ãmax(t)

χ(t)
.

"
��� R21 ������ # �
,����

R21 =

t∫
0

exp

(
− x2

4(θ1(t) − θ1(τ))

)
|√θ2(t) − θ2(τ) −

√
θ1(t) − θ1(τ)|√

(θ2(t) − θ2(τ))(θ1(t) − θ1(τ))
dτ �

�
t∫

0

|θ2(t) − θ2(τ) − θ1(t) + θ1(τ)|√
(θ2(t) − θ2(τ))(θ1(t) − θ1(τ))(

√
θ2(t) − θ2(τ) +

√
θ1(t) − θ1(τ))

dτ.
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"�����#5�
 36�4% �(�
��+�� ����$# R21

R21 � C39ãmax(t)

t∫
0

dτ√
θ0(t) − θ0(τ)

=
C39ãmax(t)

χ(t)
.

��(�(���� ��� R2 ��+��

R2 � C40ãmax(t)
χ(t)

.

��(����' �� �����$��% &� ����
(� �� v0(x, t), ����5+(��� �����,���� �� ���
�
����,�

R3 ≡
t∫

0

∣∣∣∣∣ µ′
2(τ) − f(h, τ)√
π(θ1(t) − θ1(τ))

∞∑
n=−∞

exp

(
− (x+ h(2n− 1))2

4(θ1(t) − θ1(τ))

)
−

− µ′
2(τ) − f(h, τ)√
π(θ2(t) − θ2(τ))

∞∑
n=−∞

exp

(
− (x+ h(2n− 1))2

4(θ2(t) − θ2(τ))

)∣∣∣∣∣dτ � C41ãmax(t)
χ(t)

. 3!=4

��(�(���� ��+��

|v0(x, t)| � C42ãmax(t)
χ(t)

.

"
��� |u0(x, t)| ����5+(��� �����,����

|u0(x, t)| � C43ãmax(t).

"�
�
�� *#�$��/ V (t) ≡ max
x∈[0,h]

|v(x, t)|, U(t) ≡ max
x∈[0,h]

|u(x, t)|. "
$��
�(��)
 �(�
����

����$
 ��� |u0(x, t)| (� |v0(x, t)|, � ������� 36�4% 36:4 ��
��#+��

U(t) � C44ãmax(t) + C45

t∫
0

(ψ1(τ)V (τ) + ψ2(τ)U(τ))dτ, 3!�4

V (t) � C46ãmax(t)
χ(t)

+ C47

√
t

θ0(t)

t∫
0

ψ1(τ)V (τ) + ψ2(τ)U(τ)√
t− τ

dτ. 3!-4

G���.����)
 �
�)# � �
� �
������(
' �(������ U(t)% ��+��

U(t) � C48ãmax(t) + C49

t∫
0

ψ1(τ)V (τ)dτ.

8���(��
�� �(�
���# ����$# # 3!-4

V (t) � C50ãmax(t)
χ(t)

+ C47

√
t

θ0(t)

t∫
0

ψ1(τ)V (τ)√
t− τ

dτ+
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+ C51

√
t

θ0(t)

t∫
0

ψ2(τ)dτ√
t− τ

τ∫
0

ψ1(σ)V (σ)dσ.

�(�
���# �
������(� &��� V (t) ����.��#+�� �����,���� �� �
������(� 3-:4% ����� ��,�
���
�(�+���� �� ����$
 U(t). ��(�(���� ��
��
��

V (t) � C52ãmax(t)
χ(t)

, U(t) � C53ãmax(t), t ∈ (0, t0]

�	�

|v(x, t)| � C52ãmax(t)
χ(t)

, |u(x, t)| � C53ãmax(t), (x, t) ∈ Qt0 . 3!64

8�$��
�� ���������(� � ������ v(0, t) ��� v(x, t). 8�
 x = 0 �
������(� 36<4 ���
)� 
5(��� ����
���
�
� 8����(
,�����
' �
��� R3 ��
 x = 0 �	�
�
�
'% �(�
% �(�
 
�#+�� R3 � C54ãmax(t). ��� R2 ��+��

R̃2 ≡ 1√
π

t∫
0

∣∣∣∣∣ 1√
θ1(t) − θ1(τ)

− 1√
θ2(t) − θ2(τ)

∣∣∣∣∣(f(0, τ) − µ′
1(τ))dτ+

+
2√
π

t∫
0

(f(0, τ) − µ′
1(τ))

∣∣∣∣∣ 1√
θ1(t) − θ1(τ)

∞∑
n=1

exp

(
− n2h2

θ1(t) − θ1(τ)

)
−

− 1√
θ2(t) − θ2(τ)

∞∑
n=1

exp

(
− n2h2

θ2(t) − θ2(τ)

)∣∣∣∣∣dτ ≡ R̃21 + R̃22.

����
�� R̃22

R̃22 =
2√
π

t∫
0

(f(0, τ) − µ′
1(τ))

∣∣∣∣∣
θ1(t)−θ1(τ)∫

θ2(t)−θ2(τ)

d

dz

(
1√
z

∞∑
n=1

exp

(
−n

2h2

z

))
dz

∣∣∣∣∣dτ ≤

� C55ãmax(t)

t∫
0

dτ

t∫
τ

ψ0(σ)dσ.

��� ����$
 R̃21 �
$��
�(�+�� 36�4 (� �����
��� *#�$��/ H(t)

R̃21 =
1√
π

t∫
0

|θ1(t) − θ1(τ) − θ2(t) + θ2(τ)|(f(0, τ) − µ′
1(τ))√

(θ1(t) − θ1(τ))(θ2(t) − θ2(τ))(
√
θ1(t) − θ1(τ) +

√
θ2(t) − θ2(τ))

dτ �

� (1 + q)3ãmax(t)
2
√
πH3

min(t)

t∫
0

f(0, τ) − µ′
1(τ)√

θ0(t) − θ0(τ)
dτ � (1 + q)3µ3(t)ãmax(t)

2H4
min(t)ψ0(t)

.
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�(�
% ��� v0(0, t) ��(�(���� �(�
��+��

|v0(0, t)| � (1 + q)3µ3(t)ãmax(t)
2H4

min(t)ψ0(t)
+ C56ãmax(t)

t∫
0

dτ

t∫
τ

ψ0(σ)dσ + C57ãmax(t). 3!!4

8���(��
�)
 ��
����# ����$# # 36:4 (� ����#���)
 3!64% ��+��

|v(0, t)| � (1 + q)3µ3(t)ãmax(t)
2H4

min(t)ψ0(t)
+ C56ãmax(t)

t∫
0

dτ

t∫
τ

ψ0(σ)dσ + C57ãmax(t)+

+ C58ãmax(t)

t∫
0

(
ψ1(τ)
χ(τ)

+ ψ2(τ)

)
dτ. 3!�4

"
$��
�(��#5�
 3--4% � �������� 36�4 ������
��

|a(t)| � H4
max(t)

(1 − q)4
ψ0(t)
µ3(t)

|v(0, t)| ≤

�
(

(1 + q)3H4
max(t)

2(1 − q)4H4
min(t)

+ C59

√
ψ0(t)
t

+ F (t)

)
ãmax(t)

�	�

ãmax(t) �
(

(1 + q)4H4
max(t)

2(1 − q)4H4
min(t)

+ C59

√
ψ0(t)
t

+ F (t)

)
ãmax(t), 3!:4

�
 *#�$��� F (t) > 0 ��	#��+ ����
��� = ��
 t = 0. @ (�,�% &� lim
t→+0

Hmax(t) =

lim
t→+0

Hmin(t), �
��
��+% &� ��� ������,� q, 0 < q < 1, ���#+ (�$
 �
��� t∗, 0 < t∗ � T,

&�
H4

max(t)
H4

min(t)
� 1 + q, C59

√
ψ0(t)
t

+ F (t) � q, t ∈ [0, t∗]. @�*�$�#+�� �
��� q (�$%

&�	 0 < q <
5
√

2 − 1
5
√

2 + 1
. �(�
��+��

(1 + q)4H4
max(t)

2(1 − q)4H4
min(t)

+ C59

√
ψ0(t)
t

+ F (t) � (1 + q)4

2(1 − q)4
(1 + q) + q < 1.

A��� � 3!:4 �
��
��+ ãmax(t) ≡ 0 ��
 t ∈ [0, t0], �
 t0 = min{t1, t2, t∗}. @����
 ��
� 
�#+�� a(t) ≡ 0, t ∈ [0, t0], u(x, t) ≡ 0, v(x, t) ≡ 0, x ∈ [0, h], t ∈ [0, t0]. �(�
% +�
���(�
����.��$# ������ 3�4 3!4 �.�������% &� ���
�)#+ ���
�
��� (
��
�
�

�� �J(K&'*J %�6 
(+L�K( �� JK �KLMNOM PNQRSMT UQN OVNQKWSX YMWMKMNZVM [MZV M\]ZV� 
QK^^ _� >KL� >SS `QOMY `NQRS�E -==:�E aQS��!�E b��E �̀� �:�

-� �2�0;-2 M���6 ��4.�0� ���� �	
��
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�
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